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Solving Sequence

411>10-3—>9->12>8—>1—>2—>7—5—> 6> 2,0
Cilp €3 €9 C11 Cg Ci2 C1 Cr C4 Cg

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = e 4 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 40 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u**4u? +...+2u+1)

(i) Arc colorings

1
ailz = \0
1
alg = U2
—u
a3 = \ —yd 4 u
—u?+1
ag = u?
uwt—u?+1
aiy = —u?t
—uS +ut —2u+1
as = ub + u?
ud —ub +3ut — 202 +1
al = _US _ 2u4
u? — w9 + 508 — 4ub + 6u — 3u? + 1
az = \ M — 2y 4 5410 — 8B + 6u’ — 6ut 4+ u?
—ul0 + u® — 448 4+ 3u* — 3u? + 1
—ut + 20+ 46U —u
a5 = \ 2 — 419 + 7! — 6ut® + 16wt — 11wt + 13u® — 667 +3u® —ud + u
—u3? +3uP0 =20+ 1
ag = \u3? — 2030 + ... — 6u’ + 4u?
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u38 — 4437 + 12030 + 16u3° — 68u3* — 76u>? + 160u>2 + 212031 — 468u3° — 552029 +
87218 +1132u27 — 1696120 — 2028u2° + 2496124 4 3124u?2 — 3500022 —4108u>' +4004u2°+
4760u'® — 4124u'® — 464407 + 3528u'6 + 3972u'® — 259614 — 2808w + 1496w +
1668u'! — 69610 — 764u° + 152u8 + 252u” + 8ub — 20u® — 52u? — 8u? + 20u? + 16u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cg w110+ du+ 1
Ca,Cs O+ —2u 1
€3, C10 w4 4 2ut1
C7,C8, Cy u4077u39+...74u+1
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cq ylO 4370 + . 412y + 1
¢, Cs 0 — 1130 4y 1
€3, C10 y40—7y39+-~-—4y+1
C7,Cs8,Cy A0 453 + - 420y + 1
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= —0.774023 + 0.6265731

—2.27514 — 2.356841

1.32722 + 3.768941

—0.774023 — 0.6265731

—2.27514 + 2.356841

1.32722 — 3.768941

0.739124 + 0.7080731

—5.26679 — 0.184131

—6.20607 + 0.922371

0.739124 — 0.7080731

—5.26679 + 0.184131

—6.20607 — 0.922371

0.627832 + 0.7308551

0.73402 — 4.483741

—0.96535 + 2.860501

0.627832 — 0.7308551

0.73402 4 4.483741

—0.96535 — 2.860501

—0.608675 + 0.6988191

1.19980 — 1.387401

—0.07893 + 2.549851

= —0.608675 — 0.6988191

1.19980 + 1.387401

—0.07893 — 2.549851

0.838818 + 0.6699421

—4.94096 + 5.298181

—4.71903 — 7.911621

0.838818 — 0.6699421

—4.94096 — 5.298181

—4.71903 + 7.911621

= —0.898655 + 0.5988711

2.12810 — 3.440871

2.44727 + 3.960021

—0.898655 — 0.5988711

2.12810 + 3.440871

2.44727 — 3.960021

—0.891111 4 0.2198461

6.32393 — 5.426311

7.65967 + 7.065001

= —0.891111 — 0.2198461

6.32393 + 5.426311

7.65967 — 7.065001

0.888297 + 0.1916361

6.47477 — 0.628641

8.33631 — 1.454891

0.888297 — 0.1916361

6.47477 4 0.628641

8.33631 + 1.454891

0.908694 + 0.6178771

1.65204 + 9.482161

1.43346 — 8.896601

= 0.908694 — 0.6178771

1.65204 — 9.482161

1.43346 + 8.89660.1

—0.738242 4 0.3088791

0.00908 — 2.862391

2.01297 + 9.956051

—0.738242 — 0.3088791

0.00908 + 2.862391

2.01297 — 9.956051

0.914966 + 0.9251951

—7.90110 + 0.939021

0. —2.118941

0.914966 — 0.9251951

—7.90110 — 0.939021

0.+ 2.118941

0.687807 + 0.0923831

1.071350 + 0.1734221

9.40169 — 0.466541

= 0.687807 — 0.0923831

1.071350 — 0.1734221

9.40169 + 0.466541

—0.915560 + 0.9323111

—8.66424 + 5.123731

—1.21591 — 2.770491

—0.915560 — 0.9323111

—8.66424 — 5.123731

—1.21591 + 2.770491

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= 0.940784 4+ 0.9137191 —11.90030 + 3.363951 0. —2.306361
= 0.940784 — 0.9137191 —11.90030 — 3.363951 0.+ 2.306361
= 0.963476 + 0.8998321 —7.74288 + 5.779071 0. —2.483531
= 0.963476 — 0.8998321 —7.74288 — 5.779071 0.+ 2.483531




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

—0.936757 4 0.9277051

—15.3144 — 0.10761

—5.83673 — 1.113151

—0.936757 — 0.9277051

—15.3144 + 0.10761

—5.83673 + 1.113151

—0.954303 + 0.9179871

—15.2565 — 6.67981

—5.66567 + 5.716431

—0.954303 — 0.9179871

—15.2565 + 6.67981

—5.66567 — 5.716431

—0.968399 + 0.9036071

—8.4907 — 11.87711

—0.89615 + 7.292321

—0.968399 — 0.9036071

—8.4907 + 11.87711

—0.89615 — 7.292321

—0.027916 4 0.5687711

3.61497 + 2.922061

—0.55528 — 2.792441

—0.027916 — 0.5687711

3.61497 — 2.922061

—0.55528 + 2.79244]

—0.296155 + 0.3790571

—1.252400 + 0.3095691

—6.95116 — 0.491931

u
u
u
u
u
u
u
u
u
u

—0.296155 — 0.3790571

—1.252400 — 0.3095691

—6.95116 + 0.491931




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C4,Cg u + 116 4+ Fdu 41
C2,C5 w0+ —2ut1
€3, €10 w4+ 42Ut 1
Cc7,C8,Cg u40_7u39+._._4u+1
€11, C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cq, Cg 0+ 3730+ 12y + 1
c2,Cs 0 11y 4y 1
€3,C10 Y0 — Ty —dy 1
€7,C8,C9 Yl 45330 + - 420y + 1
€11, C12




